35 ) 1 -
34 I 3 =
33 | 1 |-
3z |-
E 1 |NE E25513
30 - |Rurka 18G2A fi 8X1 dl. 5.6
29 1 |DNM-650LBS/IN
28 1 |M8X45 DIN 931 k.88 ocyn
27 2 |M81SO 7089
26 2 |M8 IS0 985
25 1 |M8X40 DIN 931 kI.88 ocynk
24 1 |M6X30 DIN 933 KI.8.8 ocyn.
23 1 |M51S0 7089
22 1 |M51SO 985
21 1 |M5X45 DIN 931 kI.8.8 ocyn
20 1 |-
19 3 | M6 [SO 7089
18 2 |M61S0 985
17 2 |M6X55 DIN 931 KI.8.8 ocyn
16 1 | M8 DIN 934 ki.8 ocynk
15 1 |DIN 648A
14 2 |DIN 7980
13 1 |M8X35 DIN 931 ki8.8 ocyn
12 1 |-
11 | LG-01-010 nosewheel-fork-axle 2 |-
10 4 |M61SO 7094
9 2 |M6X35 DIN 933 Kl 8.8 ocyn
3 |LG-01-0093 horizontal control lever 1]
7 |LG-01-0092 vertical control lever | 1 |-
6 | LG-01-001.1 nosegear-leg 1 -
5 | LG-01-002 fitting (alu) for connection of nosegear-leg to 5 |l
4 |LG-01-016 nosewheel-strut to enginge mount 1 |-
3 |LG-01-0070 st -
2 |LG-01-004 nosewheel fork 1 -
1 | LG-10-001 nosegear tire (2 plys) 4.00 x 4 1 14" X 4"
Nr Szt Material/norma




